
 

𝐶 = 50 + 0.8𝑦𝑑𝐼 = 80

𝐺 = 15𝐼 = 60, 𝑆 = −20 + 0.2𝑦𝑑 ,

𝐼 = 110𝑇𝑅 = 20  𝐶 = 60 + 0.75𝑦𝑑𝑇𝐴 = 10 + 0.04𝑦𝐺 = 50

𝐼 = 200  ;𝑇𝐴 = 600;𝐶 = 1000 + 0.6𝑦𝑑;   𝐺 = 500 ;  𝑇𝑅 = 100 ;  𝑋 = 200 ; 𝑀 = 100 

𝑇𝑅 = 400

 
 
 
 
 
 
 
 
 
 
 
 

                       

                                             

 



 

 
 

 

𝐶 = 90 + 0.8𝑦𝑑  𝑇𝐴 = 70 + 0.25𝑦 ;    𝑇𝑅 = 60 ;     𝐺 = 120 ;    𝐼 = 100   ;    𝑋 = 150;   𝑀 = 70 + 0.1𝑌  

𝐵𝑆 = TA − G − TR = 400  , C = C0 + ÇYd  , G = G0   , I = 300, TR = 0,        TA = TA0 

- 

-  TA = 2G0

- 

- 

- 

𝐶 = 200 + 0.75𝑦𝑑       𝑇𝐴 = 100 + 0.2𝑦         𝑇𝑅 = 100       𝐺 = 300           𝐼 = 300 
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